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They are both testifying concerning an unmarried woman

OVERVIEW

MR interprets the XN>72 concerning contradictory 2°7¥ in cases of PW17P and
w17, to being taking place in a situation where two individual 2°7¥ are
contradicting each other. Therefore, in the case of X X"¥ AWTPNI N X"V
TwTpn1 XY the ruling is R¥N XY NRWI oK) (RWIN X?), since they both agree that
she was a 715 before this controversial 72177, and only one says that it took
place. It follows that one 7¥ cannot contradict the assumption of both 077y
that she was initially a 7™19; therefore X¥n X% nXw1 oX. This NM2OIN questions
firstly, the need for an 7¥ to say mw7pni X7 (to permit her to remain married)
and secondly, why she cannot (re)marry 7121037 since she is 719 nprna.

MosoIN comments:
- N¥D RY DYUTPNI YRT RIND NIN NIY 1999NT 'NAY 7998 1D NY

It was not necessary to mention this fact that they were both testifying that
she was unmarried (before this controversial 1P217?), for even if there were
not two who testified, but rather only the one who maintains that she
was betrothed previously to someone else (and no one contradicted him);
nevertheless she would not be required to leave her new husband. The reason is —
= DNVYN HND MIYaVY 927 PNT
For a matter concerning illicit relations cannot be established with less

than two witnesses. There are no two witnesses here who testify that the woman is

married (only the X'"V), therefore she remains 7™15 npn2. M0 does not resolve this
difficulty.”

nooIn asks:
- APINR NNPING )9 MNT NYNNIY KWIN XY ININ *Nndn Yan

"It would seem more appropriate that 90N is referring to the phrase '221w 2pna T Hw 1727 PRY. The T
who testifies mw7pn1 X7 is merely stating that she was not 7w7pn1 at the time when the other 7v claims that
TwpPn1. He is not (necessary) claiming that she was never 7w7pna.

* See "X Moo who answers that since in the X9°0 it was necessary to state “770n Xp X"X2 %N,
therefore in the X" he also mentions 7707 RP 7171192 177°170.

? Even if we are to ignore the previous difficulty, for it is ‘merely’ a ‘technical’ difficulty, not a difficulty in
the actual ruling (or answer it somewhat; see previous footnote # 2); nevertheless there is the following
difficulty which questions the ruling itself.
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However it is astonishing; why can she not initially be permitted to

remarry?! For 7"°2 should place her on her presumptive 719 status,” since
the 7v that claims nw7pni is contradicted by the 7v who claims 7w7pn1 X2, We should
therefore fall back on her 715 npa!’

N1B0IN answers:
- 519 2599 I 19 2999 X )9 RPODMY PYITH NY PITY DIYT 1IRY P 929 U

And one can say, that we are discussing a case where for instance we
know that the ‘husband’ threw @172 money towards her, and we are in
doubt whether the 7172 money landed closer to him (and she is not

nwmpPn); or whether it landed closer to her (in which case she is nwmpn). This

was known for a fact (without the two contradictory n"m)7 -
= 119 2999 9N 1N 1D 2)9P N 1N 211D /2 %)

And these two contradictory 27v, one claimed that it landed closer to him,
and one claimed it was closer to her. Therefore -

- NYANY NNNY DPINR NNPIN 11T 19 1Y PYITPD NY P INTT )P4
Since it is certain that he threw 217? money to her, we cannot rule that

we should place her on her 77117 to permit her to marry 775nns%. Her npin
7119 has been severely flawed by the knowledge that an act of Pw17p (albeit a PwY7P 50)
has been performed. Once there is no 7M19 NP °X7), she may not marry 771n32.%

moon offers another possibility:
= YN MVNI MPDIT ) PNAY PID M) ON

Or you may also say, that we are discussing a case where for instance the
candles were lit and the beds were spread with linens, which indicates -

* See X"wn that the X"V is testifying that she was 221w *192 mwpni. The 75 npm should resolve the
contradictory testimony of the two 0>7v. See (following footnote # 5 and) ‘Thinking it over # 1.

> This is different than if 7wTPNI XY D™ MR 21N TWTPNI DMK 21w where the ruling is (721n2%) Xwan &5,
For there, there are two 0*7v who maintain 7w7pn31; it is therefore a situation of >3 °7n, and by n"n (even if
there is a 7n°7 npin, nevertheless) it remains a 731277» Po0. However here it is a case of nwnana X"y and
therefore we should certainly follow the X7°v»7 7P (even 112771). See (also) previous w"n 7"7 nvOIN.
[Alternately since here there is only an X"V, therefore he cannot be believed since Mmnd MAyaw 127 X
wn.]

% See R,V 7w, where the mwn states that if a man throws a v) to his wife, if it landed closer to him she is
not w7, and if it landed closer to her she is nw . There are differing opinions there as to the exact
meaning of 2 21p and 7% 217p. The same rule will apply by Pw1Tp.

7 See “Thinking it over” # 2.

® This poo is different than if 7w7pnI X7 IR K'Y 7w7PN1 MR X"V, There we are not sure that any PwTp
took place at all, and she retains her 7115 npti. We only have the word of an X"¥ and N5 MAYaw 727 X
o wn. However in this case we know that there is a 12175 290, this denies her, the 77°115 nNpIn status.
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- (4,09 PO T UANIN §IDA VTINTI YIPY 1Y AINY

That the husband was preparing to marry her, as the X7n3 states in the
end of waanT poo -

$AYY NN AYWTPNI KXY 9N TON 19 AYTPNI 99N TAN 1)

And one 7Y claims she married and the other 7¥ claimed she did not

marry at this very time that the first 7v claimed that she married. In this case as
well, the 715 NP1 is seriously flawed by the indications that a wedding was about to take
place. Therefore the ruling is 77rn2% Xwin X5.

SUMMARY

If there are indications that place a serious doubt on her 7™15 npin status
(such as 1% 21792112 217p, or MP?1T My, etc.), this prevents her from marrying
monno? by nwnona X"y (but she may remain married).

THINKING IT OVER
1. What is the "7 if an X"V claims that a woman was 2°I@ °192 7w7pnl; is he
believed against her 719 npm?'?

2. What would be the 1°7: a) if there were only two 2°7¥, one said he threw it
12 2177 and the other 7% 217p? b) If we know that he threw the w1 7P to her
7% 2P PH0 12 217p Poo; and there were no 07V at all to testify positively that
it was either 12 2179 or 75 21p?"!

3. In our case of MmP?17 N1N1 was there a 7P (beside the X"Y) that she was
awTpn1?'?

4. Why did n»oin choose to give the example of 151 12 2177 before the
example of 121 NP7 MM1? Seemingly, the case of Mp217 M1 is where the

X713 (in v°3) specifically states that she loses her ™15 npin!

5. Is there any value in a flawed 7pm?

? The mwn there (2,n9) states that nwTpn 17 17 NWTIPR °¥2 Anw R¥°. The Xna there explains that there was a
9@ that she was 017 w7pn1 when it was known that nyxin mun1 1Pp217 M. Otherwise, a ?1p is meaningless.
10 See footnote # 4.

' See (footnote # 7 and) (1 YA 107 P) TEIN MR D°YINT MDA
12 See amwn nY°r (for # 4 as well).
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